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B. SC. (HONS.) BIOCHEMISTRY 
(BSCBCH) 

Term-End Examination 
December, 2024 

BBCCT–127 : IMMUNOLOGY 

Time : 3 Hours     Maximum Marks : 70 

Note : (i)  Answer any seven questions. 

 (ii)  All questions carry equal marks. 
  

1. (a) Match the terms given in Column A with 
Column B : 5×1=5 

Column A Column B 

(i) Myeloid stem 
cells 

(1) No 
antibodies 

(ii) Metchnikoff (2) Red blood 
cells 

(iii) Louis Pasteur (3) Cell- 
mediated 
immunity 
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(iv) AB blood group (4) Non-self 

(v) Pathogen  (5) Chicken pox 
vaccine 

(b) What is hemotopoiesis ? Explain the 
formation of blood cells from stem cells in 
bone marrow. 5 

2. (a) Explain the activation of classical 

complement pathway with the help of a 
suitable diagram. 5 

(b) Write a brief note on pro-inflammatory 
cytokines. 5 

3. Differentiate between the following : 4×2.5=10 

(a) Antigen and Immunogen 

(b) B-cell epitope and T-cell epitope 

(c) Isotype and Idiotype 

(d) Alloallergen and Heteroallergen  

4. (a) Explain any two ways of antibody 
diversification. 5 

(b) How does rearrangement of 
immunoglobulin gene take place ? 5 
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5. (a) Explain the structure of MHC-I and  

MHC-II. 5 

(b) Discuss the role of ubiquitin and ERp57 in 

antigen presentation. 5  

6. Write short notes on any two of the following : 

2×5=10 

(a) Traits of host influencing immunogenicity  

(b) Epitopes 

(c) Marginal zone B-cells 

 

7. (a) Describe the process of V(D)J 

recombination for generation of TCR 

diversity. 5  

(b) Write any two mechanisms of induction of 

autoimmunity. 5 

8. Explain any two of the following : 2×5=10 

(a) Cytotoxic-T-lymphocytes 

(b) Cell-mediated immunity 

(c) Different types of transplants 
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9. Write short notes on any two of the following :  

2×5=10 

(a) Hashimoto’s thyroiditis 

(b) Phases of delayed type response   

(c) DNA vaccines  
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      BBCCT–127 

ch- ,l&lh- (vkWulZ) tSojlk;u  

(ch- ,l&lh- ch- lh- ,p-) 

l=kkar ijh{kk 

fnlEcj] 2024 
ch-ch-lh-lh-Vh–127 % izfrj{kk foKku 

le; % 3 ?k.Vs     vf/dre vad % 70 

uk sV % (i) fdUgha lkr iz'uksa ds mÙkj nhft,A  

 (ii) lHkh iz'uksa ds vad leku gSaA 
  

1- (v) dkWye ^d* esa fn, x, 'kCnksa dk dkWye ^[k* ls 

feyku dhft, % 5×1=5 

dkWye ^d* dkWye  ^[k* 

(i) ek;yksbM LVse 

dksf'kdk,¡ 

(1) dksbZ ,aVhckWMh 

ugha 

(ii) esVfudkWiQ (2) yky jDr 

dksf'kdk,¡ 

(iii) yqbZ ik'pj (3) dksf'kdk&eè;LFk 

izfrj{kk 
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(iv) AB jDr lewg (4) xSj&Lo 

(v) jksxtud (5) fpduikWDl 

Vhdk 

(c) gsesVksiksbfll D;k gS \ vfLFk eTtk esa LVse 

dksf'kdkvksa ls jDr dksf'kdkvksa ds fuekZ.k dh 

O;k[;k dhft,A 5 

2- (v) ,d mi;qDr fp=k dh lgk;rk ls ijaijkxr iwjd 

ekxZ ds lfØ;.k dh O;k[;k dhft,A 5 

(c) izksbuÝySesVjh lkbVksfdUl ij ,d laf{kIr uksV 

fyf[k,A  5 

3- fuEufyf[kr esa varj dhft, % 4×2.5=10 

(v) ,aVhtu vkSj bE;qukstu 

(c) ch&dksf'kdk ,fiVksi vkSj Vh&dksf'kdk ,fiVksi 

(l) vkblksVkbi vkSj bZfM;ksVkbi 

(n) ,syks,ytsZu vkSj gsVjks,ytsZu 
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4- (v) ,.VhckWMh fofo/hdj.k ds fdUgha nks rjhdksa dh 

O;k[;k dhft,A 5 

(c) bE;quksXykscqfyu thu iqufoZU;kl dSls gksrk gS \ 5 

5- (v) MHC-I rFkk MHC-II dh lajpuk dh O;k[;k 

dhft,A  5 

(c) ;wchfDoVhu rFkk ERp57 dh ,aVhtu izLrqfrdj.k 

esa Hkwfedk ij ppkZ dhft,A 5 

6- fuEufyf[kr esa ls fdUgha nks ij laf{kIr fVIif.k;k¡ 

fyf[k, %   2×5=10 

(v) bE;qukstsusflVh izHkkod gksLV@ijiks"kh ds y{k.k@ 

fo'ks"krk,¡  

(c) ,fiVksIl 

(l) B-dksf'kdkvksa ds lhekar {ks=k 

7- (v) TCR fofo/rk dks mRiUu djus okys V(D)J 

iqu;ksZx dh izfØ;k dk o.kZu dhft,A 5 

(c) Loizfrj{k.k ds izsj.k dh fdUgha nks lEHkkfor 

fØ;kfof/;ksa dks fyf[k,A 5 
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8- fuEufyf[kr esa ls fdUgha nks dh O;k[;k dhft, %  

2×5=10 

(v) lkbVksVkWfDld Vh&fyEiQkslkbV~l 

(c) dksf'kdk&eè;LFk izfrj{kk 

(l) fofHkUu izdkj ds izR;kjksi.k 

9- fuEufyf[kr esa ls fdUgha nks ij laf{kIr uksV  

fyf[k, %   2×5=10 

(v) gkf'keksVks Fkk;jkWbfMfVl 

(c) foyfEcr izdkj vuqfØ;k dh izkoLFkk,¡ 

(l) DNA Vhds 
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